LIST 6908
u=s =B B 1 wi (P hUR | @ |Yeo@|WTRE| B | #0
Coda No. | Thread Size TAP Limit Lc (F) ¢ |FAutes| D= Ln | Type | Stock
AMOER 00
AMOER Z0_| M3 x 05 REG P2 5 11 2| 40 18 1 L ]
[ aM0ER 50|
AMD.75 00
20 | M4 x 0.7 REG P2 5 13 a 5.0 20 1 [ ]
AMD.75 50
SM0.EF 00
20 | M5 x 0.8 REG P2 5 18 a 55 2z 1 L ]
SMO.ER 50
BMIR 00
" BMIA 20| MB x 1 REG P2 5 19 a 6.0 27 1 [ ]
BMIR 150
BM1.25R | 100
BM1.25H Z0_| M8 x 1.25 REG Pa 5 a2z 3 6.2 34 2 L ]
BM1.25R 50
—TOMT 5 [A]a]
10M1 5/ 20 | MO %15 REG Pa 5 24 3 70 ag 2 L ]
C10M1 5 50|
10M1 250 | 100
IOM125R| 120 | M10 x 125 | REG Pa 5 24 3 70 ag 2 L ]
CT0M1 25R | 160 |
12M1 750 | 150
ToMT 75R | 200 M12 x 1.75 | REG Pa 5 29 3 85 45 3 L ]
[ 12MT5R | 15 |MIEZX 16 REG Fa 5 25 a B85 a5 3 ]
1201 250 MI12 % 1.25 | REG Fa 5 25 ] 8.5 a5 3 .
T TAMER 150
BET =ng | M14 * 2 REG P2 5 an 3 105 49 3 L ]
1aM1.5R 50| WM14 % 15 REG Fa 5 a0 3 105 an 3 .
16MER 50
FIeMaR SRg | M16 * 2 REG P2 5 az 3 125 52 3 L ]
—T6M1 SR enoso MIE x 1.5 REG P2 5 az 3 125 52 3 L ]
{ENEER 00— M18x 25 | REG | P3 5 a7 a [140 | 568 | 3 | ®
MTER 00— Mex15 | REG | P2 5 a7 a [1a0 | 56 | 3 | ®
Z0MZ5R | 160
FEOME R 2% M20 x 25 REG Pa 5 a7 3 150 57 3 L ]
EAEEEEE
SomMTER | 2o | M20 % 158 REG P2 5 a7 3 150 57 3 L ]
 SoME SR MZE % 25 REG Fa 5 EE] 3 17.0 7] 3 )
Z2MI5R | 150
—SSMTER E%— M22 x 1.5 REG Pz 5 as 3 170 B2 3 L ]
1
Sa5R Sng | M24 * 3 REG Pa 5 45 3 19.0 &7 3 L ]
ZaM15R_| 150
FSamTeR 200 | M24 x 1.5 REG P2 5 45 3 18.0 &7 3 L ]




